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School lunch will be
compulsory for all pupils
until age 16.
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Couples wanting to

adopt a baby will be
turned down if either of
the couple is obese.
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All school pupils will have
one hour of compulsory
games/PE every day.
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Baby milk will have leptin
(an appetite suppressant)
added to it so that
children grow up with
smaller appetites.
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Parents who have

a child who is obese
when they start school
will have their family
allowance reduced.
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People will not be
given hip or knee
replacement surgery
if they are obese.
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Children at school should
be weighed each year.
Schools with children with
low average weights will
get rewards from the
local authorities.
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Children at school should
be weighed each year.
Schools with children with
high average weights
will have their funding
cut from the local
authorities.
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Food manufacturers will
add vegetable purées to
foods such as lasagne
to reduce the calories
they contain.
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Nursery schools will
introduce weight loss
programmes for all
overweight children.
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Children who walk to
school will be given
money equivalent to
the bus fare which
they are not using.
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People will be weighed
before they get on a
plane and be charged
according to their
weight.
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Overweight pupils will
not be allowed to go on

school trips for safety
reasons.
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No sweets or P .
chocolates / -,
will be allowed 4 -
iIn schools. y
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